PART V ACTIVITY

29 Compromising
Target Expression: If | ride the Ferris Wheel again, will you go on the rollercoaster after
that?

4-cards! — -

13 2 3

Student A: B! If I give you one heart, will you give me two spades?
Student B: No, | will give you one spade if you give me one heart.
Student A: Ok, here you are.

Student B: Thank you. Here you are.
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Student C: D, | will give you one diamond if you give me two clubs.

Student D: No. If you give me two diamonds, | will give you two clubs.

Student C: | don't have two clubs. If I give you 1 diamond, will you give me one club?
Student D: Ok. Here you are.
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